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1)A railroad car moves at a constant speed of

3.20 m/s under a grain elevator. Grain drops into it C
at a rate of 540 kg/min. What force must be applied

to the railroad car, in the absence of friction, to keep A -ﬁ
it moving at a constant speed?
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3)Meteor Crafer in.Arizona is thought to -
have been formed by the impact of a m 2= SX“)
meteor with the Earth some 20,000 yrs ago. W\
The mass of the meteor is estimated at \ TN 2
5x10%%g, and its speed at 7200 m/s. What T 47y lozq )
speed would such a meteor impart to the =5.97 lz - )
Earth in an head-on collision? M‘ ‘R(- - (M \+ M" v
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4)Two cars collide at an intersection. Car 1 has a mass of 1200 | 7 : X E
kg and is moving at a velocity of 95.0 km/fr due east and car 2 I\LLJ k
has a mass of v“is I‘/hf‘ /
1400 kmy/hr d rth. Th stick togeth d ff = =
meat:?nglgg.eno e cars stick together and move off as -’l‘ ‘\/S ﬂ v'l %6'\“ hr 'l’l‘l M/S

a)What is the angle 8?2
I b)What is the finai velocity of the combined cars. I
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